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Exercise -Past Continuous Tense 
 

1) Was it raining heavily? 

Pos: It was raining heavily. 

Neg: It was not raining heavily. 

2) Were the children playing in the playground? 

Pos: The children were playing in the playground. 

Neg: The children were not playing in the playground. 

3) Was she wearing a blue dress? 

Pos: She was wearing a blue dress. 

Neg: She was not wearing a blue dress. 

4) Was it getting warmer outside? 

Pos: It was getting warmer outside. 

Neg: It was not getting warmer outside. 

5) Were we having a picnic by the lake? 

Pos: We were having a picnic by the lake. 

Neg: We were not having a picnic by the lake. 
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